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Eight friends A, B, C, D, E, F, G and H are sitting
in a row with equal distances between each other,
but not necessarily in the same order. All of them
are facing north direction. Two people sit between
E and C. E sits at one of the extreme ends. A sits
second to the right of C. B sits fourth to the left of
F. F is not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.
AT A, B, C, D, E, F, G 37X H Uk Uik H Teh
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& fter at safee 8 B E TRt uen eifam s we SaT 2
A, C o 270 6 T WX 43T 21 B, F o 10 9 o
T W AST 2l F, C T Mhean uget 78 21 H, D %
AT B 6N T U 3T 2



«74 @Reasoningbybasantsir

Eight friends A, B, C, D, E, F, G and H are sitting
in a row with equal distances between each other,
but not necessarily in the same order. All of them
are facing north direction. Two people sit between
E and C. E sits at one of the extreme ends. A sits
second to the right of C. B sits fourth to the left of
F. F is not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.
Who among the following sits immediately to the
right of F?

1. A
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Eight friends A, B, C, D, E, F, G and H are sitting
in a row with equal distances between each other,
but not necessarily in the same order. All of them
are facing north direction. Two people sit between
E and C. E sits at one of the extreme ends. A sits
second to the right of C. B sits fourth to the left of
F. F is not an immediate neighbor of C. H sits third
to the left of D. D does not sit at extreme ends.
How many people sit between C and B?

1. One

2. Two

3. Three

4. Four

S. None
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Eight friends A, B, C, D, E, F, G and H are sitting in a
row with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of
C. H sits third to the left of D. D does not sit at extreme
ends.

If all the persons are made to sit in alphabetical order
from left to right, how many will remain unchanged as
compared to their original seating position?

1. One

2. Two

3. Three

4. None

S. More than three
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Eight friends A, B, C, D, E, F, G and H are sitting in a
row with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of
C. H sits third to the left of D. D does not sit at extreme
ends.

Four among five are the same in a certain way. Find the

one who does not belong to the group?
1.E-G
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Eight friends A, B, C, D, E, F, G and H are sitting in a
row with equal distances between each other, but not
necessarily in the same order. All of them are facing north
direction. Two people sit between E and C. E sits at one of
the extreme ends. A sits second to the right of C. B sits
fourth to the left of F. F is not an immediate neighbor of
C. H sits third to the left of D. D does not sit at extreme
ends.

Who among the following sits second from the left end?
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

TS & A, B, C, D, E, F, G 3R H eRT-3TT T&qU THEd
¥ SR Tt 71 ok Teft sHE A BT A IR D 3 s
ST TEAU @WRIEd 2| B 31 A & e aY 3Tk 9&q0 Elad
21 A, G ¥ 3ieh Uget 3R C % o1g o Tiiedr 81 H 3R C &
aﬁ%ra‘r—aﬁsarcr@ﬁa%r%l E. T F 3R T8 E gt a1
TR & TTHT TRiEaT 2)
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

How many people buy item between F and G?

1. One

2. Two

3. Three

4. Four

S. Five
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Who among the following buys the item at last?

O 5D
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Who among the following buys item immediately before

ARE ol S el e
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

How many persons buy item after C?

1. None

2. Two

3. Three

4. Four

S. Five
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Four among the five are same in a certain way and thus
form a group. Which among the following does not belong
to the group?

1. FC

2. AG

3. CA

4. GH

5. AB
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Statement:
D<ESF,G>HZ2I>F

Conclusion:

I.LESH
ILH>D

1. Only 1 is true

2. Only I1 is true

3. Both I and II are true
4. None IS true

5. Either I or I1 is true
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Statement:
MZ2B2N=Z>XSR>S

Conclusion:
I.M>X
II. N>S

1. None is true

2. Only I1 is true

3. Both I and II are true
4. Only 1 is true

S. Either I or 11 is true
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Statement:
M>N20=PSQ<R>S

Conclusion:
| LY I
II. O<R

1. Only I true

2. Only II true

3. Neither I nor 11 is true
4. Both I and II are true
S. Either I or 11 is true
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Statement:
M>N20=PSQ<R>S

Conclusion:
| LY I
II. O<R

1. Only I true

2. Only II true

3. Neither I nor 11 is true
4. Both I and II are true
S. Either I or 11 is true
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Sahil starts from Point A and walks 8 m in south and
reaches point B, then turns towards his left and walks 4 m
and reaches Point C, from point C he turns his right and
walks 5 m and reaches Point D. From D he turns 8 m
towards left and reaches to E. From E he again turns left
and walk S m reaches to F again turn right and walk 4 m
to reach point G. Finally he again turns to his left and
walks 8 m and reaches Point H.

arfee foig A ¥ 9% 211 & R 8 Hiet aferur &t o1} srerar 2
3 foie BwR ug=raT §, TORY STUHT SIS 3T HeaT & 3R 4 Hiex
TeTaT ¥ 3iit i C W g s, foig C & 9% suA E HEAT R
ﬁTSWW%ﬁTﬁEDWW%l DA TETSATE 8
Tiex g ST 3iR E ek Ugaar ¢l E & 9% foR & a1 31
TAT & 31 5 Hiet IereRt F oo ugaar ¢, fR & qrd gear §
3ﬁ?4nﬁaaﬂwﬁa(}mmﬂ%l 37 o 8 TR & aTaet
TS 3R YSaT & 3R § Hiex wetar ¢ iR foig H o) ugerm 21




Sahil starts from Point A and walks 8 m in south and
reaches point B, then turns towards his left and walks 4 m
and reaches Point C, from point C he turns his right and
walks 5 m and reaches Point D. From D he turns 8 m
towards left and reaches to E. From E he again turns left
and walk S m reaches to F again turn right and walk 4 m
to reach point G. Finally he again turns to his left and
walks 8 m and reaches Point H.

What is the distance between A and H and H is in which
direction with respect to A?

1. 16 m, East

2.12 m, West

3.16 m, West

4. 24 m, North East

S. 12 m, South East
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Sahil starts from Point A and walks 8 m in south and
reaches point B, then turns towards his left and walks 4 m
and reaches Point C, from point C he turns his right and
walks 5 m and reaches Point D. From D he turns 8 m
towards left and reaches to E. From E he again turns left
and walk S m reaches to F again turn right and walk 4 m
to reach point G. Finally he again turns to his left and
walks 8 m and reaches Point H.

Point E is in which direction with respect to C?

1. South

2. South East

3. North West

4. North

S. North East

«74 @Reasoningbybasantsir



«74 @Reasoningbybasantsir

How many such pairs of letters are there in the word
‘CONDITION’, each of which has as many letters
between them in the word (both forward and backward
direction) as they have between them in the English
alphabetical series?

315 'CONDITION' W 3781 ok UH fehad SIS &, RAH o
Tedeh oh o<l Teg W (ITHY S i T fevrmant ®) sav &
37eR & Fra 7ok sfter SRS SuTHTAT et 21 22

1. One

2. Two

3. Three

4. Four

5. More than Four
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

TS & A, B, C, D, E, F, G 3R H eRT-3TT T&qU THEd
¥ SR Tt 71 ok Teft sHE A BT A IR D 3 s
ST TEAU @WRIEd 2| B 31 A & e aY 3Tk 9&q0 Elad
21 A, G ¥ 3ieh Uget 3R C % o1g o Tiiedr 81 H 3R C &
aﬁ%ra‘r—aﬁsarcr@ﬁa%r%l E. T F 3R T8 E gt a1
TR & TTHT TRiEaT 2)
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

How many people buy item between F and G?

1. One

2. Two

3. Three

4. Four

S. Five
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Who among the following buys the item at last?

Al Sl
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Who among the following buys item immediately before

| DY

1.C
2.H
3.F
4. B
5. G
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Eight people A, B, C, D, E, F, G and H buy different items
but not necessarily in the same order. Three-person buys
items between A and D. Two persons buy items between B
and A. A buys item immediately before G and after C.
Two people buy item between H and C. A buys an item
after B. F buys an item before E. Neither F nor E buys
items first or last.

Four among the five are same in a certain way and thus
form a group. Which among the following does not belong
to the group?

1. FC

2. AG

3. CA

4. GH

5. AB



«74 @Reasoningbybasantsir

There are twelve persons sitting in two parallel rows. Six persons
A, B, C, D, E and F are facing north and other six P, Q, R, S, T,
and U are facing south. Each person from one row faces exactly
one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are
two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is
not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at
any of the extreme ends. S and T is not an immediate neighbor of
each other. A sits at one of the extreme ends.

3 AR UTRAT § TRE S d6 8l B8 Ak A, B, C, D, E 3R F
I T AN A fhU U AR AT BT P, Q, R, S, T 3R U ghor &t
AR T foru g ¥t Qﬁﬁwm—qﬁsaﬁ'ﬁqﬁs%zﬁzﬁ =ik
Wmm%ﬁﬁquﬁ%gﬁmﬁg‘rlAaﬁTR alﬁ
& foreruia: Rafa S RARQ F A ar AR IS 2 Q %sﬁmn
Ut § 9 TR wwcaﬁaﬁi% a‘rA%wq%"réar%le
n'@rBa?raﬁ'{%aﬁ'{P wﬁmwu—sﬁﬁﬂﬁ%maﬁ'{n%aﬁaa‘r
AF AT, Uﬁ;aﬁ@ra@ﬂ‘mmém%l E frd off sifar s w
T AT S aﬁ'{Tqaaaaﬁ;ﬁqu‘sﬁﬁqﬁ%l A frdt T
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There are twelve persons sitting in two parallel rows. Six persons
A, B, C, D, E and F are facing north and other six P, Q, R, S, T,
and U are facing south. Each person from one row faces exactly
one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are
two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is
not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at
any of the extreme ends. S and T is not an immediate neighbor of
each other. A sits at one of the extreme ends.

How many persons are sitting between R and U?

1. One

2. Two

3. Three

4. Four

S. None
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There are twelve persons sitting in two parallel rows. Six persons
A, B, C, D, E and F are facing north and other six P, Q, R, S, T,
and U are facing south. Each person from one row faces exactly
one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are
two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is
not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at
any of the extreme ends. S and T is not an immediate neighbor of
each other. A sits at one of the extreme ends.

Four are alike in some way. Find which of the following is
different?

1.P

Sl
> T C
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There are twelve persons sitting in two parallel rows. Six persons
A, B, C, D, E and F are facing north and other six P, Q, R, S, T,
and U are facing south. Each person from one row faces exactly
one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are
two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is
not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at
any of the extreme ends. S and T is not an immediate neighbor of
each other. A sits at one of the extreme ends.

Who is second to the left of Q?

1.P
2.5
3.T
4. R
S.C

an’t determine



«74 @Reasoningbybasantsir

There are twelve persons sitting in two parallel rows. Six persons
A, B, C, D, E and F are facing north and other six P, Q, R, S, T,
and U are facing south. Each person from one row faces exactly
one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are
two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is
not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at
any of the extreme ends. S and T is not an immediate neighbor of
each other. A sits at one of the extreme ends.

If persons who are facing north sit as per alphabetical order from
left to right. How many persons do not change their seats?

1. Three

2. None

3. One

4. Two

S. Four
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There are twelve persons sitting in two parallel rows. Six persons
A, B, C, D, E and F are facing north and other six P, Q, R, S, T,
and U are facing south. Each person from one row faces exactly
one person from the other row but not necessarily in the same
order. A and R sits diagonally opposite to each other. There are
two persons sitting between R and Q. One of the immediate
neighbors of Q faces C, who does not sit near A. P faces B and P is
not an immediate neighbor of Q. There are two persons sitting
between B and D. T sits second to the right of U. E does not sit at
any of the extreme ends. S and T is not an immediate neighbor of
each other. A sits at one of the extreme ends.

Who among the following sits opposite to T?

S
ol RN



S4AB% &3SE21U*G@O9CSTFKI4£TVI94H€ELMI1

How many vowels are there which are immediately
preceded by a perfect square?

UH Tohe T & 1ok 3ok U@el Teh qUT T AT 272

W=D

1.
2
3.
4.
S.
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How many numbers are there which are
immediately preceded by a symbol and followed by
a consonant?

e U Ueh ST &2

1.
2
3.
4.
S.

= W= O
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If all the symbols in the above arrangement are
dropped then which of the following element is
tenth from the left of third element from the right?
It STk sareT | g« Uedieh gt fou oIme ot
ﬁm%%%ﬂﬁﬁaﬁ-—rmac—ora@ﬁ?ﬁﬁ T % ATE &
AT 8?2

1. E
2.U
3.5
4.7
S. F
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S4AB% &3SE21U*G@O9CSTFKI4£TV94H€ELMI1

If the first eighteen elements in the above sequence
are written in reverse order, then which of the
following will be at the eighteenth position from the
right end?

aﬁmmﬁmma—cﬁaﬁﬁmﬁ
foren wmg, @t Feferfad § & i 310 91 o srered
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Four of the following are alike in a certain way
based on their position in the above arrangement.
Find the one which does not belong to that group?

IUIIH SATEAT H AT e o ATYR W FAeferiaa
H H oR Ueh A1 diich O THT gl T8 AT hifoTg ST
30 AHE | dated T8l 82

1.B&E

2. 7K £

3.4€1

4.4B3

5.UGO
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